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Five models are waiting their turn to walk on the catwalk. Can you find out which model is from the Netherlands?

Dress: black, blue, purple, red, white Weight: 110 lbs, 115 1bs, 120 lbs, 125 lbs, 130 Ibs
Nationality: American, Brazilian, Dutch, Japanese, Ukrainian Age: 21 years, 22 years, 23 years, 24 years, 25 years
Height: 5'7",5'8",5'9", 5'10", 5'11" Hobby: cooking, gardening, hiking, reading, singing
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The model wearing the Black dress is somewhere to The woman wearing the White dress is somewhere to
the left of the 22-year-old model. the left of the 24-year-old woman.
At the third position is the 125 lbs model. The 5'8" model is exactly to the right of the Brazilian
model.
The South American model is exactly to the left of the _
model who likes Reading. The 24-year-old model is 5'7".
At the four position is the woman who likes Gardening. The American is somewhere between the 25-year-old
woman and the woman who likes Gardening, in that
The 23-year-old model likes Gardening. order.
The 110 lbs model is somewhere to the right of the The model from Kiev is at the fourth position.
model wearing the Purple dress.
At one of the ends is the 5'10" woman.
The model born in New York is exactly to the right of
the Dutch. The oldest model is exactly to the left of the model who
likes Reading.
The model who likes Singing is somewhere between _ _ _
the model who likes Cooking and the model wearing The woman wearing the White dress is next to the 115
the White dress, in that order. lbs woman.
The 5'9" woman is next to the 130 lbs woman. The Ukrainian is next to the 115 Ibs model.
The model wearing the Blue dress weighs 115 Ibs. The model wearing the Black dress is somewhere

between the model who likes Cooking and the model

At one of the ends is the 120 Ibs model. wearing the Purple dress, in that order.
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Kart Racing
Logic Grid Puzzle

Use the clues to solve this problem and to discover the finishing positions of each pilot.

1. The pilot who finished in first is older than Sam.
2. Ronald is 13 years old.

3. Sam finished in second place.

4. Alan is one year younger than the pilot who finished in

third.
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